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[bookmark: _Ref463014664]Introduction
After 3GPP TSG-RAN WG4 meeting #100-bis-e, the system calibration process was conducted among the interesting parties for co-existence simulation. This paper contributes simulation results of DL ACIR after the calibration.
Discussion
As the agreement of the previous meeting, the simulations are conducted for DL ACIR with the indoor office C scenario at 60 GHz and 70 GHz. Refer to the WF from last meeting for detailed simulation parameters [1].
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Figure. 1 DL ACIR simulation results for throughput loss at 60 GHz 
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Figure. 2 DL ACIR simulation results for throughput loss at 60 GHz
The DL ACIR results are summarized in Table 1.
Table 1 : Summary of DL ACIR simulation results
	Bandwidth
	100 MHz
	400 MHz

	60 GHz Average
	18.0
	17.8

	60 GHz 5%-tile
	19.8
	19.9

	70 GHz Average
	18.5
	17.6

	70 GHz 5%-tile
	20.8
	19.3



The DL ACIR has slight differences between 100 MHz and 400 MHz bandwidth and 60 GHz and 70 GHz carrier frequencies. Based on these simulation results, both bandwidth and carrier frequency are not a dominant factor to DL ACIR. 
Conclusion
In this contribution we present our simulation results for coexistence study. To keep less than 5% throughput degradation, the DL ACIR shall be stringent as 19.9 dB for 60 GHz and 20.8 dB for 70 GHz.
Reference
[1] [bookmark: _Ref67646176][bookmark: _Ref465947021]R4-21114993, “WF on co-existence simulation for NR_ext_to_71GHz”, Qualcomm.
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